Y4 - Autumn - Block 1 - Step 1 - Roman numerals Answers

10

50

100

a) Vi d) LV
b) Xl e) LXXII
c) XXIlI f) LXXXIX

g XVl
h) XLI
i) XXVII

Eva lives at number 24

7

Alex could have rolled 1and 6 (I and VI) or 3 and 4 (lll and IV) in any order.

a) 24 twenty-four
b) 71 seventy-one
c) 68 sixty-eight
d) 96 ninety-six
e) 28 twenty-eight
f) 91 ninety-one
a) XXVI

b) 13 thirteen
c) 70 LXX
d) forty-eight XLVIII
a) LXII

b) LXXI

c) XXVII

d) LXXIV

e) LV

f) v

g) LXOXVII

Multiple possible answers, e.g. XXIX + XLI = LXI + IX




